Cos(X1-X2)=C0SX;COSX2+SinX;Sinx,
Cos(X1+X2)=C0SX1C0SXo—SiNX1SinX>
Sin(x;+x2)=sinx;C0sX>+COSX;SiNX2
Sin(X1-X2)=SinX;COSX,-COSX;SiNX;
Tg(x1+X2)=tgx1+tgxo/ 1-tgxitg.
Tg(x1-X2)=tgX -tgXa/ 1+tgxitgXs
Ctg(xi+x2)=ctgxictgx,-1 / ctgx,+ctgx,
Ctg(x1-X2)=ctgx;ctgx,+1 / ctgxi-ctgxo

Sin2x=2sinxcosx
Cos2x=cos’*x-sin’x
Tg2x=2tgx / 1-tg’x
Ctg2x=ctg’x-1/ 2ctgx
Sin3x=3sinx-4sin*x
Cos3x=4cos’x-3cosx
Tg3x=3tgx-tg*x/1-3tg’x
Ctg3x=ctg’x-3ctgx/3ctg’x-1

Sinx;+sinX,=2sinX;+Xa/> COSXi-X2/2
Sina-sinb=1/(sin(a+b)+sin(a-b))
Sinx;-sinx,=2c0sX1+Xa/2 SinX;-Xo/2
CosX;+C08X2=2C08X1+X2/2 COSX1-X2/2
Cosa-cosb=1/5(cos(a+b)+cos(a-b))
Co05sX1-C0SX=-25INX1+X/2 SINX1-Xo/2
Sina-sinb=-1/5(cos(a+b)-cos(a-b))
Tgx+tgX,=sin(X;+X,)/COSX;COSX;
Ctgx;+ctgxo=sin(X2+x1)/sinx;sinx,

Sinx=2sinx/; cosx/»
CoSX=C08?X/>-Sin*x/>
1=sin’x/>+cos’x/>




